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Instruction : (A) Question No. 1 is an objective type question. It has three
parts—Part (A), Part (B) and Part (C). Part (A) has Multiple
choice type questions, Part (B) has Match the following and
Part (C) has Fill in the blanks. Each part has 5 questions.
Each question carries 1 mark.

WH-1 (@Ue-3N) wel fasmen gt fofan [1%5=3]
(Part-A) Choose and write the correct option :

() ot sdifar dEnA i © -

(&) v (9) a7

(@) v @) ol
Which is not non-living physical resource?
(a) Land (b) Air
(¢) Water (d) Fish

ssc THNNNENR PT.O]
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Lil)  fom Wiz Wt ¥ Pew wae w1 IO qEd AfE W E?

(30 W=
(%) wR
(9 W

B ¢

|
Since last 60 years, production of which crop has increased most?

(a) Paddy
(b) Jwar
(¢) Bajra

(d) Wheat

(i) TER it o ik =17 1 FJ@-<rar v

/(iv)

(3) g () =

(J) o™ A7) T2

Income and Expenditure of the Government’s revenue is :

(@) Public finance (b) Tax

(c) Profit (d) Budget

F.C.1. frari @ sl & @l ?

(37) THIE A W (9) dF TR

(@) I T R L) W WhYT e W

F.C.I. purchases crops from farmers at :
(a) Local price (b) Wholesale rate

(¢) International price (d) Minimum supported price

S$-3C
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S0 erifvm (w
(%) wRa (0 W
Itis called the land of Island :
(@) Indonesia (b) Asia
(c) India (@) China
(WvT-w) 3o Ty Afey [1x5=5]
(%) (=)
(H g - (3 1929 '”.
(i) FREIRTRA PR - (@) o qm Y
(i) g =% 9] - (%) o e
(iv) W 3 - (Y RV
(v) fefoea Fifn - (9 smf=we T

(Part-B) Match the following :
(A)

() Air

(if) Decline of USA stock market

(é4i) Subhas Chandra Bose

(iv) Fat grain

(v) Diagital revolution

(B)
(a) 1929
(5) Dry region
(¢) Continuous renewable
(d) Internet
(e) Azad Hind Fauz

(TvE-w ) fiaa wrl %) ¢ sifag : [1x5=5)
(Part-C) Fill in the blanks :
() T H FE-3m =& — I
Garbage is separated and ___. .
S-3C P.T.O.
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(#) mslhwmaz Xy k8 cull

The war of Russia and Japan occurred in ___ year.
AN TR ¥ firg 1948 — 0 H e g
In 1942 for Jews ___ Country was established.

() PO 35 e o shgg et & e e oA St T
T —

The work of sending message and voice through waves present

In the sky without wire is done by .

R T TR

Unit between village and city is called .

Ficer * (F) T FHF 2 ¥ 6 o et v §IEE T R
2 % e ¥ (IR F srfuwan y=-d 30 T )
Instruction : (B) Question Nos. 2 to 6 are very short answer type questions.

Each question carries 2 marks. (Maximum word limit of

answer is 30 words) http://www.cgboardonline.com

CWF-2 foFm 1 A F Q dFaw ¥ Im fafan

Write two names of the indicators of measurement of development.

T¥-3  £5 UW H IEA & 91y gfinfaa 9 <9 & am fafa)

Write the names of two countries which participated in Axis Nation

with Germany.

 wH-4  yEifert e & W fafaa

Write the name of the party of Mussolini.

[1+1=2]

[1+1=2)

2]

S-3C
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-5 0 ¥ w1 A §? 2]

What is mecant by energy?

go-6 SR SRR ¥R YR % g srraryaes & 79% @ S fafan | [1+1=2]

Balanced dict is essential for our body. Write two reasons for this.

e () T FE 7 A 10 7% s W E T TR W
3mmﬁa(mﬁaﬁﬁ:mw-ﬁmsom%)

Instruction :  (C) Question Nos. 7 to 10 are very short answer type questions.

Each question carries 3 marks. (Maximum word limit of

answer is 50 words)

-7 mmﬁﬁwe?%maﬁzﬂqmmﬂﬁmmﬁ%ﬁﬂl [1+1+1=3]

Write three major political events in Indian politics since 1967,

TH-8 T T S 3R ST TR Sier ¥ u que

Q i e | [1+1+1=3]

Write one similarity and two dissimilarities between the Indian

Freedom Movement and African Freedom Movement.

-9  WFad § SH-Geuii Y 99ifa S0 o aEies e T 9
ferg ferfau (1+1+1=3]

Write three points on social movements affecting the public

participation in democracy.

WR-10,, H&E & Fmto it wwfaa w3 9 9 wre fafaw) [1+1+1=3]

Write three factors affecting the construction of houses.

P-ToO-
§$-3C
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Instruction : (D) Question Nos. 11 to 14 are short answer type questions,

Each question has internal option. Each question carries

4 marks. (Maximum word limit of answer is 75 words)

) - W-11 FRiER & 9R S fafae ) [1+1+1+1=4]

—
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Write four characteristics of Fascism.
N/ OR

A g% A S S < gPE W vEY 9 3% ww v Rl

If Germany had won in the war, then write four of its impacts on
the world.

WA-12~ MG § qes 1 gorn § ufeensii #) amwm w0 &) 593 faam fafau

(F% 7)) [1e1ete) 4y

Write your thoughts for less literacy rate of women as compared to

men in India (any four).
Haar/ OR
fmgmﬁ@ﬁwtmﬂmmmmmm.

Increasing population is the obstacle 1n the whole world

development. Write its four effects.

"~ We1-13 /Wﬁﬁﬁﬁﬁﬁlmwml [1+1+1+1=4]

Garden land is different from agricultural land. Explain this statement.

3rerar/ OR
- Tl o, SR fa | A e i

Barren land is different from waste land. Clarify.

$-3C
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e : TG F 91
WE-14 “Prvs g3 % 2R fafi 29 & el #1 feafa 3 e Lo 14
v fafee
Write four impacts of changes in the situation of women in different

countries during the World War.
3791/ OR

71914 ¥ 3 ¥R §U 43 N forvd 3 we a1 €1 39 9 W) e Fife .
(FE w70 |

The war that began in 1914 is called World War. Explain this

statement (any four).

Rdsr 2 (3) U wHiE 15 W@ 16 QeI v ¥ 9@ v § srafE
faweg ¥ 7ol w91 W s siF atefed §1 (I F sifuwan
TR-T 100 v1= ?)

Instruction : (E) Question Nos. 15 and 16 arc long answer type questions.

Each question has intemnal option. Each question carries
S marks. (Maximum word limit of answer is /00 words)

W-15 S % v a5 fafEa

[1+1+1+1+]=5]
_ Write five functions of Bank.

3reraT/OR
WRdta fiord 9% % vl w1 fafau

Write five functions of the Reserve Bank of India.

-16 WA H JvdlH F 9" y9E fafau

[]+1+1+1+|=5]
Write five effects of Globalization in India,

3T/ OR

~STT9% me-mﬁﬁm%,ﬁﬁqa’t%ﬁﬁm
¥ 1 35% vig fag fafau
Write five points on somethings that are available around us that
connect us with other countries.

P.T.O.
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faweg &1 AW YO W 6 3w ameifen &)1 (IWM A Aftwan
we-drm 150 v ¢)

Instrwction : (F) Question Nos. 17 and 18 are long answer type questions.
Each question has internal option. Each question carries
6 marks. (Maximum word limit of answer is /50 words)

ww-17 _nurenh #t Prgfa e wm € 2 yuessh & st s ek i 161
Who appoints the Prime Minister? Describe the functions of the
Prime Minister.

3741/ OR
Jug & wEl & g Fif)

Describe the functions of the Parliament.

WH-18  HagH Wi & ©: fag foae dfdra sarem wifs) [1+1+1+1+1+1=6]

Explain briefly by writing six points of the voting process.

37q1/0OR
ofget HaSaIE] &1 HaeE & Wiawd $Y B % 9: SR fafgu)

Write down six reasons of less percentage of women voters in voting.
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